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QUESTION 1

What is a concern when removing media from service? 

A. data on media should be erased 

B. data on media should be archived 

C. tapes should be archived 

D. management information should be sanitized 

Correct Answer: A 

 

QUESTION 2

A fourway cluster is attached to two fabrics. Each member has two HBAs connected to each fabric. Each fabric has two
subsystem connections. Each cluster member is a primary for one application. All LUNs appear on all storage ports with
workload equally distributed across all. Each host has two dedicated HBAs for tape that can each see four independent
LTO II (35MB/s) tape drives. All files are large and involve sequential I/O. Performance reporting shows a large read
pending at the host during multi threaded backup. What is the most probably cause for the large read pending at the
host? 

A. native command queueing 

B. SCSI Queue Depth too high 

C. SCSI Queue Depth too low 

D. throttling threshold is too high 

Correct Answer: C 

 

QUESTION 3

Which three (3) processes occur during a fabric merge? (Choose three.) 

A. TOV distribution 

B. zone set passing 

C. FSPF trunk distribution 

D. principle switch negotiation 

E. name server communication 

Correct Answer: BDE 

 

Latest S10-201 Dumps | S10-201 PDF Dumps | S10-201 Study Guide                                2 / 3

https://www.geekcert.com/s10-201.html
https://www.geekcert.com/s10-201.html
https://www.geekcert.com/s10-201.html


https://www.geekcert.com/s10-201.html
2024 Latest geekcert S10-201 PDF and VCE dumps Download

QUESTION 4

You have diagnosed that a FC HBA has failed. You need to replace it quickly to complete the overnight data transfer.
The only card you have available is a PCIX 2.0 version running at 533MHz. The failed HBA was inserted into a PCIX
shared bus slot. What will be the result if you insert this new HBA into the same slot? 

A. HBA will run at 533MHz. 

B. HBA will run at 266MHz. 

C. HBA will run at 133MHz. 

D. HBA will run at 100MHz. 

Correct Answer: D 

 

QUESTION 5

A storage configuration was created which stores large amounts of infrequently used documents. The storage
implementation is based on serial attached SCSI (SAS) and an edge expander. Almost all ports are utilized, and a
second edge expander will be installed. What is required to connect SATA devices to the SAS domain? 

A. SASSATA adapter 

B. SASSATA protocol converter 

C. cable with two SATA connectors 

D. cable with a SAS and a SATA connector 

Correct Answer: C 
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